A sample of n=100 patients free of diabetes have their body mass index (BMI) measured. 32% of these patients have BMI ≥30 and meet the criteria for obesity. Generate a 95% confidence interval for the proportion of patients free of diabetes who are obese. 
[bookmark: _GoBack]We can use the equation with a Z score of 1.96:
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A sample of n=100 patients free of diabetes have their body mass index  (BMI)  measured. 32% of these patients have BMI  = 30 and meet the criteria for obesity.  Generate a 95% confidence interval for the proportion of patients free of diabetes who  are obese.    We can use the equation   with a Z score of 1.96:   95%   ????????????????????   ???????????????? =   ?? ± 1 . 96 ( ??   ( 1 - ?? ) ?? )   95%   ????????????????????   ???????????????? = 0 . 32 ± 1 . 96 v [ 0 . 32 1 - 0 . 32 ] 10 0   95%   ????????????????????   ???????????????? = 0 . 32 ± 0 . 091 = ( 0 . 229 , 0 . 441 )  

